Lingl120B Midterm Exan

“f Answer the questions in the spaces provit
Good luck!!!

N arsess

Total points:@/107
17

Question 1: Morphology N (10 points)

(a) (5 points) Draw a tree structure for the English word undeniability. Make sure to
label each node. :

(b) (5 points) Draw a tree structure for the English word fﬁnaqn@ as used in the
example below. Make sure to label each node.

(1) The instantaneity of a flash of lightning constantly demagnetizes the nee-
dles of the electric telegraph, and often remagnetizes them in the reverse

direction.
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; Midterm Exam F
{ Question 2: Node relations i
Consider the tree j in (2)

and answey the questions below. (13 points)
(2) TP
Dl;;'/\,
D (D
l ;
That AP NP,
l
I l
smelly cheese empty D, NP3 quickly
I
the N3
room
() (1 point) What is the root node?

(b) (2 points) What are the terminal nodes? P, A M( V’ Da NB AAU

(c) (2 points) List all the nodes that VP, dominates. \/1’ PP [ Dy (Nf} ly ‘\%
\(d) (2 points) What nodes dominate NP3? DPa'/ VP, 2 M W 741

(e) (1 point) Does NP; precede N,? \/D Yes %

(f) (2 points) What node exhaustive%o\r?ates {will, empty, the, room}?
no

)

ESEEER . [P,

(g) (2 points) W at noge exhaustively dominates {that, smelly, cheese}?
[EIRTR 0O NP, [J none

(h) (1 point) Does smelly s-precede cheese? ——— @ N \{ N/

Question 3: Coordination rule (4 points)
Consider the grammatical English sentence in (3) and refer to the coordmatxon rule as
stated in class. 144

V¥
(3)  Patis adolt and \nzm p.

[ (3) is correctly predicted to be grammatical by the coordination rule;

O (3) /s correctly predicted to be ungrammatical by the coordination rule;

) is incorrectly predicted to be ungrammatical by the coordination rule;

[J none of the above.
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hich one ig “ructy,
e the right constituency fo,. the phrase [ (8 points)
. 95Ked to support your answer Using 4 DP this tasty French pastry |? You will

with one of the two structures. b

DP
this
tasty

French pastry

DP
this
pastry

tasty French
(a) (2 points) The right tree structure ig:

(b) (3 points) It is supported by the followi i :

! Owing constituency test It:

paraje th fenfene fhe ade 108 friny Fench pas ate {nis o
N s

(c) (3 points) Explain how the result in (b) supports
our !
Re Bt FEJWLE Gbore gy ") SUPPOTLS your answer

G

~
Whith dosnt
e pacom (g

camﬁr\nh\r
A LT T RV VIV ok e oy T T
w

Tt LohMGtively  domirars " Eronth pasty”

o prapny ©
BN+ & wninneny 1 +nat an,nmg) (avalden r5 the ee.
Question 6: Structural ambiguities (30 points)
Sentence (5) is ambiguous.

(5)  Susan will marry that guy in the backyard.

Identify the two interpretations and provide an unambiguous paraphrase for each reading
(make sure that your paraphrase is actually unambiguous!). Then give the result of a

constituency test that makes the sentence unambiguous. Use a different test for Reading
A and B. Finally, draw a tree structure for Reading B and answer question (d) about
the tree structure associated with the other reading (that you don’t have to draw!)
(a) (5 points) Reading A
Paraphrase:
Thepuedos Swsan will MMV Lhat Jusr, anid 4ne wedlding
fake puec th te  loadey nrf.

Disambiguated with test: & O(e(’HWj, ,
Resulting sentence:

H:’ m!+ 1W1 mat Jwah Wil Mg 1n & A &LWW

[#nat gt )

Page 4 of 7

&
L

have
A nvde













